Aeroquip® by Danfoss 1A Braided Hose Ends | Quick Reference s

A A A
D D — A A A 5
.—_‘ _ B D —w—D.‘ ¢ =
|l ‘gngl'qg e w— i T/ ‘i&a “ ‘-1 il
e & | S - ] O i |l e
S d “JE L e H &
MP ! FJA Yo FR il SB . FLG S BFB & . y
N . o . o H o .
N.P.T.F. Male Pipe Rigid JIC/37° Female Swivel, Female ORS Swivel Male Straight Thread split Flange 60° Tube Elbow 60° Cone Female Swivel
i . o o H
Part# Thread Hose Size 45° Tube Elbow Part# TTC Thread Hose Size o ring SWIVG' (SAE Code 61) 90° Elbow (BSPP) Male DIN 24 Seat’ nght
1AAZMPA 1/8-27 04 — Thread Hose Size 1AA4FR4 9/16-18 —04 Part # TTC Thread Hose Size e o — Part # TTC Thread Hose Size Part # TTC Thread Hose Size
ar jose Size
1AA4MP4 1418 _04 1AA4FIASE | 7/16-20 —04 1AA6FR4 11/16-16 —04 1AA45B4 7116-20 -04 ppepm—— = > 1A4BFB4 G1/4-19 -04 1A5DK4 MI12x 1.5 -04
1AAGMP4 3/8-18 -04 1AASFJA4" | 1/2-20 ~04 1AA8FR4 13/16-16 -04 gl °16-18 06 e 2'37 > 1A6BFB6 G3/8-19 | -06 1A6DK4 M14x15 | -04
1AA8MP4 1/2-14 ~04 1AAGEJAS 9/16-18 _04 1AA4FRG 9/16-18 _06 TAA85B6 3/4-16 -06 : 1A8BFB6 G1/2-14 -06 1A8DK4 M16x 1.5 -04
1AA4MP6 1/4-18 -06 1AA4FIAG 7/16-20 06 1AAG6FR6 11/16-18 ~06 TAA8SB8 3/4-16 -08 1A8BFBS G1/2-14 -08 1A8DK6 M16x 1.5 -06
1AA6MP6 3/8-18 -06 1AAGEJAG 9/16-18 06 1AASFR6 13/16-16 ~06 TAA10SB8 /814 -08 — TA10BFB8 G5/8-14 -08 1A12DK8 M22x 1.5 -08
1AA8MP6 1/2—14 -06 1AASFJAG® 3/4-16 _06 1AA6ERS 11/16-16 -08 17_:* }m aaaa e 1A10BFB10 G5/8-14 -10 1A16DK10 M26 x 1.5 -10
::::m: 3; :’1: _g: 1AABFJAS 3/4-16 -08 1AABFR8 13/16-16 -08 iy - 1A12BFB12 | G3/4-14 -12 1A20DK12 M30 x 2.0 -12
= — o [ 7/9- _ 1AA10FR8 1-14 -08 1A16BFB16 G1-11 -16 1A25DK16 M36 x 2.0 -16
T AABMIPS 112 03 1AAT0FJA8 /8-14 08 FLB |
— — a Lok 1/4— — _
1AAIIMPS | 3/214 08 1AATOFJAT0" | 7/8-14 -10 1AA12FR8 13/16-12 -08 Split Flange 90° Tube Elbow 1A20BFB20 | G 11/4-11 20 1A32DK20 M45 x 2.0 20
1AA6MP10 | 3/8-18 -10 1AAT12FAT0 | 11/16-12 | -10 TAABFRI0 | B/16-16 —10 (SAE Code 61)
1AASMP10 | 1/2-14 -10 1AA12FJAT2 [ 11/16-12 | -12 1AAT0FR10 | 1-14 -10 SBB : .
3 Male Straiaht Th d Part # TTC K@ Hose Size -
1AA12MP10 | 3/4-14 -10 1AA16FJAT2 | 15/16-12 | -12 1AA12FR10 | 13/16-12 -10 ale Straig rea AarLBs — ~ ——
1AASMP12 | 1/2-14 12 1AAT6FIA16 | 15/16-12 | -16 1AATOFR12 | 1-14 -12 O-ring Swivel 90° Elbow R —— 50 08 % |l e
1AA12MP12C | 3/4-14 -12 1AA20FJA20 | 15/8-12 -20 1AA12FR12 13/16-12 -12 Part# TTC Thread Hose Size TAT9FLBI0 1'50 10 7 — DS
1AA12MP12 3/4—14 -12 aSwivel nuts are universal, both 37° and 45° connections. 1AA16FR12 17/16=12 -12 1AA6SBB6 9/16-18 -06 BN 1.50 _12 BT % Female Swivel DIN 24° Seat,
1AAT6MP12 | 1-111/2 -12 1AAT2FR16 | 13/16-12 -16 1AA8SBB6 | 3/4-16 -06 : Tapered Male Rigid (BSPT) DKO Heavy
1AA12MP16 | 3/4-14 -16 R T . AABSEBS | 3/ate o8 1A12FLB16 1.50 -16 :
; . 1AA16FR16 17/16-12 -16 4 Py p— P = Part # TTC Thread Hose Size Part# TTC Thread Hose Size
TAA16MP16 | 1-111/2 -16 [ gt 1AA20FR16 | 111/16-12 | -16 1AA10SBB8 | 7/s-14 -08 : 1A4BT4 R1/4-19 —04 1A5DS4 M16x 1.5 -04
1AA20MP16 | 11/4-11172 | -16 SHIN = - AM2SBB12 | 117612 > 1A20FLB12 2.00 -12 :
1AA20MP20 | 11/4-111/2 | -20 " E TAA20FR20 | 111716712 | -20 o - EAE s P SR e 1A6DS4 M18x15 | -04
B e NIRRT PRy FJB “ " 1AA24FR20 | 2-12 -20 ASOFLBTG 00 P 1A8BT8 R1/2-14 -08 1ASDSA4 M20 x 15 04
1AA32MP32 | 2-11172 -32 JIC/37° Female Swivel, 90° Elbow o 1A16FLB24 175 =7 1A6DS6 M18x 1.5 -06
\ _
Part # TTC Thread Hose Size b ’ C : | A— i 1A24FLB16 2.37 -16 r & 1 1A8DS6 M20x 1.5 06
: 1AA4 4 7/16-20 04 %“E 1A16FLB20 | 1.75 20 % e L
0 - - B e Tl : - dl e
J— 1AASFJB4" | 1/2-20 04 FRA WE MT 1A20FLB20 | 2.00 20 M——m e 1A10DS8 M22x15 | -08
#IE 1AAGFJB4 | 9%716-18 04 Female ORS Swivel, Elareless TUb(; Rigia 1A20FLB24 | 2.00 o | 1A12DS8 M24x15 | -08
PS <£ 1AAMFIBE | 7/16-20 -06 45° Tube Elbow rmeto 7000 Series 1A24FLB20 | 2.37 20 BP ® 1A16DS10 | M30x2.0 | -10
a o St
N.P.T.F. Male Pipe Swivel 1AAGFJB6 | 9/16-18 ~06 Part# TIC Thread Hose Size S T e i 1A24FLB24 | 2.37 24 60° Cone Male Rigid (BSSP) 1A16D512 | M30x20 | -12
e S e 1AABFJBE' | 3/4-16 06 1AA4FRA4 | 9/16-18 -04 1AA4MTA 7/16-20 ~04 1A32FLB24 | 2.81 24 Part # TTC Thread Hose Size 1A20D512 | M36x20 | -12
| AAAPSA 1/4-18 o4 1AA6FIBS | %16-18 | -08 1AAGFRA4 | 11/16-16 | -04 LUEGIE |1y ~04 1A32FLB32 | 281 -32 1A4BP4 G1/4-19 | -04 1A25D516 | M42x20 | -16
VI a8 o6 1AABFJB8 | 3/4-16 -08 1AA4FRA6 | %/16-18 -06 TARAMT6 | 7/16-20 ~06 1A40FLB32  |331 -32 1A6BP6 G3/8-19 | -06 1A32D520 | M52x20 [ -20
1AAGPS6 3e18 06 1AAT0FIBS | 7/5-14 -08 1AAGFRA6 | 11/16-16 | -06 LD || 12 ol ~06 1A8BP6 G1/2-14 | -06
N — Vol = 1AA10FJB10" | 7/s-14 -10 1AASFRA6 | 13/16-16 | -06 TAAGMTE | 91618 ~06 A 1A8BP8 G1/2-14 | -08 ’
1AAGPSS 3818 08 1AA12FJB10" | 11/16-12 | -10 1AASFRA8 | 13/16-16 | 08 G| il 08 R 1A10BP10 | G5/8-14 | -10
1AASPSS V14 0 TAATOFJBI2 | 7/3-14 _12 1AAT0FRA8 | 1-14 ~08 T1AATOMT8 | 7/s-14 ~08 I%:_ =~ 1A12BP12 G3/a-14 |12
IAM2PS1Z | 3/a1a 12 1AAI2FJBI2 | 11/16-12 | -12 1AA12FRA8 | 13/16-12 | -08 L2 O ON R Eal2 20 KS 1A16BP16 | G1-11 -16 DSA
1AA16PS16 | 1-111/2 -16 TAAT6RJB12 | 15/16-12 | -12 TAAT0FRAT0 | 1-14 -10 Metric Split Flange 1A20BP20 G1la-11 |20 Female Swivel DIN 24° Seat 45°
1AA16FJB16 | 15/16-12 -16 1AA12FRAT0 | 13/16-12 -10 ot Straight, 45°and 90° Tube Elbow, Heavy
1AA20FJB20 | 15/8-12 -20 1AA12FRA12 | 13/16-12 -12 B T’ - (Komatsu, Linkbelt, etc.) Part # TTC Thread Hose Size
A 1AA24FJB24 | 17/8-12 -24 1AA16FRA12 | 17/16-12 -12 %ﬁ'zf:’« BTN Part# TTC Ko Hose Size 1A6DSA4 M18x 1.5 -04
aSwivel nuts are universal, both 37° and 45° connections. 1AA12FRA16 | 13/16-12 -16 M <L 1A10KS10 342 -10 1A8DSA6 M20 x 1.5 -06
1
1AA16FRA16 | 17/16-12 -16 . . - 1A10DSA6 M22x 1.5 -06
ak Inverted Male Swivel Straight TATOKSATO | 34.2 10 JF I X
FP 1AA20FRA16 | 111/16-12 | -16 S e o 1AT10KSB10 | 34.2 -10 JISE le Swivel 30° 1A12DSA8 M24 x 1.5 -08
. . . art rea ose Size
Female Pipe Rigid g TAA20FRA20 | 111/16-12 | -20 ema ? wivel 30 1A20DSA12 | M36x2.0 -12
1AA3MF4 3/8-24 -04 Flare Straight
g
Part # TTC Thread Hose Size 1AA24FRA20 | 2-12 -20 A
1AA4MF4 7/16-24 -04 o Part # TTC Thread Hose Size
1AA2FP4 1/8-27 | -04 1AA24FRA24 | 2-12 -24 1 x
1AA4FP4 1/4-18 | —04 TAASMF4 1/2-20 -04 P —— 1A4JF4 G1/4-19 -04 —W—w
4— o e
IAAAEPS /a8 | -06 FJC 1AA4MF6 7/16-24 —06 SL #‘ e 1A6JF6 G3/8-19 06 L 4:,].4' 1)
45— — . A / N
e T JIC/37° Female Swivel, . 1AA5MF6 17220 06 Male Staplok ASJFE R o H ﬂi—_
8— — | q a
90° Long Drop Tube Elbow ‘ 1AA7MF6 11/16-18 ~06 Ll Sonnects iz licseiize 1A12JF10 G3/4-14 _10 DSB ;
1AABFP8 1/2-14 | -08 TAASMIFS 3218 s 1A4SL4 /4 -04
1AA12FP12 3a14 | 12 Part# TTC Thread Hose Size - -0 heSLe o o TA12JF12 G 3/4-14 -12 Female Swivel DIN 24° Seat 90°
1AA4FICH 7/16-20 -04 FRB 1AAT10MF8 7/8-18 -08 1A16JF16 G1-11 -16 Tube Elbow, DKO Heavy
. 1 —
1AASFICA | 1/2-20 ~04 Female ORS Swivel, 1ASSL8 & % 1A20JF20 G1l/a-11  |-20 Part# TTC Thread Hose Size
1AAGEJC4 9/16-18 —04 90° Tube Elbow Short Drop A 1A165L16 l =16
o 1A205L20 a 0 1A5DSB4 M16x 1.5 -04
1AA6FJC6 9/16-18 -06 Part # TTC Thread Hose Size S — 1A6DSB4 M18x 1.5 -04
1AABFICE® | 3/4-16 -06 1AA4FRB4 9/16-18 -04 ];@/;1 e 1A8DSB6 M20x 1.5 -06
PF 1AA8FJC8’ 3/4-16 -08 1AAGFRB4 11/16-16 -04 MFA 5 . 1A10DSB6 M22x 1.5 -06
Female Pipe Swivel 1AATOFJCE" | 7/8-14 ~08 1AA4FRBG | 16-18 ~06 0 I > e 1A12DSB8 | M24x 1.5 08
5 AAGFRES hes || Inverted Male 45° Tube Elbow = KF x1. -
Part# TTC Thread Hose Size 1AATOFJCTO /e-14 LU 7 I — . ° 1A16DSB10 M30 x 2.0 -10
AA12FIC 1/ _ 1AASFRB6 13/16-16 ~06 Part # TTC Thread Hose Size Female Sw|ve| 30 Flare
1AAAPF4 | 1/2-18 ~04 TAMIZFICT2 | 1/16712 | 12 ; TE . 1A20DSB12 | M36x20 | -12
1AAT6FIC16 | 15/16-12 | -16 1AAGFRB8 | 11/16-16 | -08 1AAGMFAG | 7/16-24 ~04 . . (Komatsu, Linkbelt)
1AA6PF6 3/8-18 -06 1AASMEAZ | 1/2-20 04 Standpipe Straight Tube 1A25DSB16 | M42x20 | -16
1 AASPFS /214 08 1AA20FJC20 | 15/8-12 -20 1AASFRBS 13/16-16 -08 S — e S — e
v . D.
TR EPEY 5 *Swivel nuts are universal, both 37° and 45° 1AATOFRBS | 1-14 08 1AASMFAS | 1/2-20 06 | AGTES a ™ 1A4KF4 M14x15 | -04
_ _ , o . .
connections. 1AAT2FRBS | 13/16-12 | -08 TAACMFAG | >/e-18 06 1A6TE6 3/ ~06 LU LRSS ]
11 — — y=am
A 1AATOFRB10 | 1-14 ~10 1AA7MFAG /16-18 06 T ASTES 1 08 1A8KF8 M22x15 | -08 wnlll 24
: Z 1AABMFA8 | 3/4-18 -08 2 - | G
% w . 1AA12FRB10 | 13/16-12 -10 TA10KF10 M24x 1.5 -10 e
mq MJ %k 1AA10FRB12 | 1-14 -12 ) 1AT0KF12 | M24x15 | -12 EK b
- 1AA12FRB12 | 13/16-12 -12 8 R TA12KF12 M30x 1.5 -12 Male DIN 24° Seat, Heav
SP Tl JIC/37° Male Rigid
ale Rigi P
Female Straight Pipe g 1AA16FRB12 | 17/16-12 -12 %iﬂ (S 1A16KF16 M33x 1.5 -16 Part # TTC Thread Hose Size
Swivel (NPSM) Part # TTC Thread Hose Size 1AA16FRB16 | 17/16=12 -16 LM 1A20KF20 M36 x 1.5 -20 1A5EK4 M16 x 1.5 -04
1AA4MJ4 7/16-20 -04 i . . .
Part # TTC Thread Hose Size 1/16 1AA20FRB16 | 111/16-12 | -16 MEB Metric Standpipe Straight Tube TAGEK4 M18x1.5 -04
1AA4SP4 1/4-18 -04 1AASMI4 el ~04 1AA20FRB20 | 1'"/16-12 —20 . 7 Part # TTC Tube O.D. Hose Size 1A8EK6 M20x1.5 -06
T Sets o8 1AA6MJ4 9/16-18 -04 1AA20F- 1M16-12 | -20 In\:erted Male Swivel ATSLM - o8 TATGEKTO V30x20 210
AAGSPE o g 1AA6MI6 | 9/16-18 ~06 RB20.078 90° Tube Elbow T A20EK12 M36x20 |12
R ET wE TAA8MJ6 3/4-16 -06 TAA24FRB20 | 2-12 -20 L0 IS UL LEOEE 1A25EK16 M42 x 2.0 _16
TARESP16 | 111/ 6 1AATOMJ6 | 7/8-14 -06 1AA24FRB24 | 2-12 -24 TAAAMFB4 | 7/16-24 -04 DL
3/4 _ 1AA5MFB4 | 1/2-20 -04 .
1AA20SP20 | 11/4=111/2 | -20 1AABM)8 /416 08 Female Swivel DIN 24° Seat, I
1AATOMIS | 7/8-14 -08 1AAAMFBE | 7/16-24 ~06 DKO Light I
1AA12MJ8 11/16=12 -08 1AA5MFB6 1/2-20 -06 Part# TTC Thread Hose Size MC %} imﬂ}
A
1AABMJ10 | 3/4-16 -10 1AAGMFB6 | /8-18 -06 BW 1A5DL4 Mi2x15 | -04 -
1AATOMUT0 | 7/8-14 10 " 1AA7MFB6 | 11/16-18 06 BSPP Flat Face Female Swivel AeDLA e o8 Straight Male STC
1AAT2MJ10 11/16-12 ~10 F RC & 1AASMFBS 3/4-18 08 Part # TTC Thread Hose Size 1ASDLA M16 1.5 Y Part # TTC Thread Hose Size
TAATOMIT2 | 7/8-14 12 . 1AA6BW6 G 3/8-19 -06 1A6MC4 04
PSG 8 Female ORS Swivel, AAEW = Sl M16x1.5 |06 1A6MC6 -06
. . o 1AATZMNZ | 1116212 | 12 90° Tube Elbow Long Drop : 1AASBING /714 06 1A10DL6 MI18x15 | -06
Male Pipe Swivel 90° Elbow TAAAMIT2 |13/ ° 1A8MC6 -06
16-12 -12 Part# TTC Thread Hose Size I l— 1A12DL8 M22x1.5 —08 1A8MC8 08
P e Hosesie TAAI6MI12 | 15/16-12 | -12 1AMFRC4 | 9/16-18 ~04 FL K["’_'_“:F > 1A16DL10 | M26x15 | -10 ATOMCTG e
T - _
1AA4PSB4 /4-18 04 1AAT6MJ16 15/16-12 -16 1AA6FRC4 11/16-16 -04 . . 1A16DL12 M26x 1.5 -12
1AA4PSBG | 1/4-18 ~06 Split Flange Straight
1AA6PSB6 | 3/3-18 06 5 (SAE Code 61) 5
1AA20MJ20 | 1°/8-12 | -20 1AASFRC6 | 13/16-16 | 06 S m — BF 1A25DL16 | M36x20 |-16 5
1/7— — art jose Size
1AA8PSES /-1 08 1AA24MJ24 | 17/8-12 —24 1AABFRC8 | 13/16-16 -08 60° Cone Female Swivel 1A32DL20 Ma5x20 | -20 T
1AA12PSB12 | 3/2-14 -12 1A8FL8 1.19 —08 . il R
orrce o1 o8 P o o Straight (BSPP) 1A40DL24 M52 x 2.0 -24 MCA r %{
A TAATOFRC10 | 1-14 -10 : . . 4
5 1A12FL10 1.50 ~10 Part # TTC Thread Hose Size 450 Male STC
A R 1AA12FRC12 | 13/16-12 -12 ; 1A4BF4 G 1/4-19 —04
] FW‘ 1AA16FRC12 | 17/16-12 12 [AI2RLT2 150 -2 - Part# TIC Thread Hose Size
g | L il 1AT6FL12 175 12 1A6BF4 G 3/8-19 -04 —w_ - | ABMCAS 08
= UG FS é % 1AA16FRC16 | 17/16-12 -16 TA20FL12 2.00 5 1A6BF6 G 3/8-19 -06 HWH Wi 1=
. 1AA20FRC20 | 111/16-12 | -20 _ _
FJ & SAE 45° Female Swivel AAoarncao 1oota ™ TAT6FL16 175 16 1ASBFS o 1214 % DLA o
. : = - 1A8BF G1/2-14 - . .
JIC/37° Female Swivel Part# TTC Thread Hose Size TAT6FL20 1.75 -20 8578 / 08 Female Swivel DIN Universal Seat
S — e 1AA4FS4 7/16-20 —04 1A20FL16 2.00 -16 121 g;iso 2 5; Z‘M ‘os 45° Tube Elbow, Light
A S 1A10BF1 5/8-14 -1
1AA3FJ4 3/g-24 -04 1AASFS4 1/2-20 —04 o TA20FL20 2.00 -20 Part # TTC Thread Hose Size MCB
1AA4FS6 7/16=20 ~06 g 1A20FL24 2.00 14 1A12BF10 G3/4 -10
1AA4FJ4t 7/16-20 -04 — : 1A5DLA4 Mi2x15 | -04 90° Male STC
1AA6FS6 5/3-18 -06 %F W 1A24FL20 | 238 20 1A12BF12 G3/4-14 | -12
1AA5FJ4 1/2-20 -04 MR ‘ : = 1A6DLA4 M14x 1.5 -04 .
3/4-16 08 .. $ 1A24FL24 238 4 1A16BF16 G1-11 ~-16 Part# TTC Thread Hose Size
1AAGEJ4 9/16-18 _04 TAA8FS8 4 Male ORS R|g|d . - T A208F20 e - TA8DLA4 M16 X 1.5 -04 1A4MCBA
4_ p—
1AA4FJ6 7/16-20 06 1AATOFS8 7/8-14 -08 Part # TTC Thread Hose Size 1A32FL20 2.81 -20 c p— o0 - 1A8DLAG M16 x 1.5 -06 1AGMCBG 06
* G as part of thread size is esignation for =
R T e TAA12FS12 [ 1116-14 | -12 1A4MR4A 9/16-18 ~04 1A32FL24 2.81 -24 oarallel thread. 1A10DLA6 M18x 1.5 ~06 — ”
1AAG6FJ6 9/16-18 -06 1AA6MR4 11/16-16 -04 1A32FL32 281 —32 . 1A12DLA8 M22x15  |-08
1AA6FJ8 9/16-18 -08 1A6MR6 11/16-16 -06 TA40FL32 331 -32 —e 1A16DLAT0 | M26x 1.5 -10
1AABFJ6! 3/4-16 -06 1A8MR6 13/16-16 -06 S . it 1A20DLA12 | M30x2.0 -12 *
1AASFJ8' 3/4-16 -08 1A8MR8 13/16-16 -08 A BFA & 1A25DLA16 | M36x2.0 -16
1AA10FJ6 7/8-14 -06 1AAT0MR8 | 1-14 -08 W‘“ 60° C F le Swi \DI
1AAT0FJ8 | 7/8-14 -08 FSA 1AA12MR8 | 13/16-12 | -08 (ﬂ%*“ F1 e 450 T°’I;e E?;“a e(B‘;vFI"S g
° i ube Elbow
1AAT6FJ8 | 15/16-12 | -08 SAE 45° Female Swivel TAATOMR10 | 1-14 -10 FLD = MCC
45° Tube Elbow . ° Part # TTC Thread Hose Size
1AASFJ10 3/4-16 -10 1AA12MR10 | 13/16-12 -10 Split Flange 22.5 AaBFAG G 1/a19 ” Long Drop 90° Male STC
1AA10FJ10 | 7/8-14 -10 GEIGUITS jliread ol TAAT2MR12 | 13/16-12 -12 Tube Elbow (SAE Code 61) — — DLB
_ _ 1A6BFA6 G 3/8-19 -06 Part # TTC Thread Hose Size
1AA12FJ10 11/16-12 -10 TAAGFSAG6 >/8-18 06 1AA16MR12 | 17/16-12 =12 Part # TTC K@ Hose Size | ASBEAS G1/2-14 08 F I ivel DIN . | 1A6MCC6 06
1AATOFJ12 | 7/8-14 12 1AAT6MR16 | 17/16-12 | -16 1A16FLD16 | 175 16 rosrate Tesea o 9;?1: ebs‘l’EvIII;,e L l:‘rtnversa Seat
- - w, Li
TAA12FJ12 [ 11/16-12 -12 A 1AA20MR16 | 111/16-12 | =16 1A20FLD16 | 2.00 -16 1A12BFA12 [ G3/4-14 12 ddeadaldu
D - - Part # TTC Thread H Si
1AA14FJ12 | 13/16-12 -12 . 1AA20MR20 | 111/16-12 | -20 1A20FLD20 | 2.00 -20 ar thei 0se Size
o 1A16BFA16 | G 1-11 -16 1A5DLB4
TAAT6FJ12 [ 15/16-12 | =12 == T
: 1A20BFA20 | G 11/2-11 -20 1A6DLB4 M14x 1.5 -04
1AA12FJ16 | 11/16-12 -16 A A — —
MS o o * @G as part of thread size is ISO Designation for 1A8DLB4 M16x 1.5 -04
1AA14FJ16 13/16-12 -16 o L o e parallel thread.
1AAT6FJ16 | 15/16-12 | -16 SAE 45° Flare Male Rigid matl W= N il [ASDLBS Miox15 |06
naorie T e Part# TIC | Thread Hose Size MB Wy - FLA ]@/ 1A10DLB6 [ M18x15 [ -06
TAM6R20 15012 |20 1AA6MS6 5/8-18 -06 Male Straight . . TA12DLB8 M22x15 | -08
1AAI12MS12 | 11/16-14 | -12 Thread O-ring Rigid Split Flange 45 1A16DLB10 | M26x15 | -10
TAA20FJ20 | 15/8-12 -20 Tube Elbow (SAE Code 61)
Part # TTC Thread Hose Size 1A20DLB12 M30x 2.0 -12
1AA24F)24 | 17/8-12 -24
1AA32FJ32 21/2-12 5 1AA4MB4 7/16-20 —04 LR Uik Ko Hose Size 1A25DLB16 M36 x 2.0 -16
2_ -
—C 1AA5MB4 1/2-20 -04 1ABFLAS 1.19 -08 1A32DLB20 | M45x2.0 -20
1 Also available in stainless steel, add suffix “C" to part number,
i-e., TAA4FJAC, 1AABFJEC or TAABFJBC. 1AA6MB4 °/16-18 -04 1A12FLA8 1.50 -08 1A40DLB24 M52 x 2.0 -24
1AA6MB6 9/16-18 -06 1A12FLATO | 1.50 -10
1AA8BMB6 3/4-16 -06 1A16FLA12 | 1.75 -12
1AAT0MB6 | 7/8-14 -06 1A16FLAT6 | 1.75 -16
TAABMB8 3/4-16 -08 1A20FLA16 | 2.00 -16
1AATOMB8 | 7/8-14 -08 1A16FLA20 | 1.75 -20
1AA12MB8 | 11/16-12 -08 1A20FLA20 | 2.00 -20
1AAT0MB10 | 7/8-14 -10 1A24FLA20 | 2.37 -20
1AA12MB10 | 11/16-12 -10 1A24FLA24 237 24
1AA12MB12 | 11/16-12 -12 1A32FLA24 2.81 24
1AA16MB12 | 15/16-12 -12 1A32FLA32 | 2.81 -32
1AA16MB16 | 15/16-12 -16
1AA20MB20 | 15/8-12 -20

Danfoss can accept no responsibility for possible errors in catalogs, brochures, and other printed material. Danfoss reserves the right
to alter its products without notice. This also applies to products already on order provided that such alterations can be made without
subsequent changes being necessary in specifications already agreed. All trademarks in this material are property of the respective
companies. Danfoss and the Danfoss logotype are trademarks of Danfoss A/S. All rights reserved.

ENGINEERING
TOMORROW

Al436459787427en-000101 © 2022 Copyright Danfoss | Produced by Danfoss J/C |2022.11



